N & 0l & At & Z Al
20199 E = 2 3l LBHEN JIEISEAN MSD
SA: MSD
I AYE M Y2 YAT A
©el: MSSSY HEs sS4 (el @ e)
F -G (3H) - NRAY - B2 0l & o p/E-F HIDE2
S 115,185,776 88,740,622 26,445, 154
2 24,574,000 24,574,000 0
p] 18,512,732 4,694,804 13,817,928
< 72,099,044 59,471,818 12,627,226
AU HE B AT A 115,064,430 88,703,696 26,360,734
2 24,574,000 24,574,000 0
p] 18,512,732 4,694,804 13,817,928
< 71,977,698 59,434,892 12,542,806
HES=g HEs s54 9,970,072 9,800,072 80,000
¥ HERSFIR 2 8,992,572 8,912,572 80,000
405 X4+ F S| 80,000 0 80,000
01 U B2 5 S| 80,000 0 80,000
OSE MgE ZENY 7Y 80,000 0 80,000
MSINPAIL &5 62,006,250 42,358,500 19,647,750
2 24,574,000 24,574,000 0
| 13,785,000 0 13,785,000
= 23,647,250 17,784,500 5,862,750
SUHEHE N 4,500,000 3,500,000 1,000,000
403 XHXI € F S X2 0| & 4,500,000 3,500,000 1,000,000
01 XA X 4,500,000 3,500,000 1,000, 000
OM558 TOIHAE ZINF W24 (Y 3,000,000 2,000,000 1,000,000
THSAL 25 5,835,250 3,462,500 2,372,750
403 R SHSKE01H 5,835,250 3,462,500 2,372,750
PSR PEES 5,835,250 3,462,500 2,372,750
OEF ST AL 250,000 0 250,000
OFEH SS9 -S0tg BIIBTF(98) =4 500,000 0 500, 000
OVF BIHZR USHIY JS2LAY 150,000 0 150,000
ORF #B HUAZ JSHLAAEY 35,000 0 35,000
OAS SFAHNOESH THTA 50,000 0 50,000
OUE SHS HOESH FA I 25,000 0 25,000
OB 3HE% MEANSIE s 150,000 0 150,000
0Y SY SHHSIY =T XY 250,000 0 250,000
Oy 2FHB AL2SSIIT L (TH 20,000 0 20,000
OE4 HUM MAZTH(9E) &1 25,000 0 25,000
OFE ANS.512,01Z HLAZ AlE 85,000 0 85,000
OFH =T OIANOESH AL=E 30,000 0 30,000
O3E AN MEHSIY 57T XY 250,000 0 250,000
OYT MEHSAL INS2SLAY 2,750 0 2,750
O OFRE QI0FREA HHIAY 250,000 0 250,000
OQUM JI2S XSel 2HHSAL 100,000 0 100,000
OUN S MS2 HAMLIAY 200,000 0 200,000




2EM: MW
HH: AYE M H=E AT A
S MFIALE &5 (&)
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
EX ZOHAMSME HE(21) 2,000,000 0 2,000,000
J| 2,000,000 0 2,000,000
403 AXHHSXH=0lA 2,000,000 0 2,000,000
J| 2,000,000 0 2,000,000
01 AR SHHA =22 = 2,000,000 0 2,000,000
Osd ZUHNM=sHH A 2,000,000 0 2,000,000
J| 2,000,000 0 2,000,000
2F HHEY FUMSHH A8 (21) 1,600,000 0 1,600,000
J| 1,600,000 0 1,600,000
403 AHXEHHS =0l A 1,600,000 0 1,600,000
J| 1,600,000 0 1,600,000
01 AXISHHA=2E = 1,600,000 0 1,600,000
O%=+= g9 I0MHSsHH AE 1,600,000 0 1,600,000
J| 1,600,000 0 1,600,000
2 MEHE IUUMSHH el2de8 (=22) 1,868,000 0 1,868,000
J| 968,000 0 968,000
= 900,000 0 900,000
403 A X EHS K= 0l A 1,868,000 0 1,868,000
J| 968,000 0 968,000
=) 900,000 0 900,000
01 X SHHX2E= 1,868,000 0 1,868,000
OLE HMEdd JLUHSHH cI22d 1,868,000 0 1,868,000
J| 968,000 0 968,000
=) 900,000 0 900,000
MEsoc MSIEANLXNE(2D) 16,454,000 15,614,000 840,000
= 10,790,000 10,790,000 0
& 5,664,000 4,824,000 840,000
403 A X HHSXH=0lA 16,454,000 15,614,000 840,000
s 10,790,000 10,790,000 0
< 5,664,000 4,824,000 840,000
01 AR SHHA =22 = 16,454,000 15,614,000 840,000
0OZE =24 dU=2% =4 2,600,000 1,760,000 840,000
s 1,200,000 1,200,000 0
< 1,400,000 560,000 840,000
A J0UMSHH A (32) 200,000 0 200,000
J| 200,000 0 200,000
403 A X EHHS =0l A 200,000 0 200,000
J| 200,000 0 200,000
01 AXISHH A== 200,000 0 200,000
O I0NSHH AE 200,000 0 200,000
J| 200,000 0 200,000
oIHl gl FeHsHE A (=1) 1,000,000 0 1,000,000
J| 1,000,000 0 1,000,000
403 A X EHS =0l A 1,000,000 0 1,000,000




M M
FM: ALs Hs gss AT AE
Chelr MSIIBAE &5 (cho &)
2 .42 (SAH) - HRAS - BES O] Ak I & Hl w&z2
Il 1,000,000 0 1,000,000
01 XXM A2E = 1,000,000 0 1,000,000
OCH Jlgl =R Hs4H AHAE 1,000,000 0 1,000,000
J| 1,000,000 0 1,000,000
sol 5% IUMNSAH A (=22) 1,000,000 0 1,000,000
| 1,000,000 0 1,000,000
403 XAtXISHM S K201 ™ 1,000,000 0 1,000,000
| 1,000,000 0 1,000,000
01 X SHHMA 22X 1,000,000 0 1,000,000
O=dl =% =2HsHH AHE 1,000,000 0 1,000,000
| 1,000,000 0 1,000,000
EHed &N IZ0MSHE A (21) 1,000,000 0 1,000,000
| 1,000,000 0 1,000,000
403 XXM S X201 1,000,000 0 1,000,000
J| 1,000,000 0 1,000,000
01 XXM A=2E = 1,000,000 0 1,000,000
Ot EH I UMSHEH HE 1,000,000 0 1,000,000
| 1,000,000 0 1,000,000
=& BHCdl MsdH A-(=22) 1,000,000 0 1,000,000
| 1,000,000 0 1,000,000
403 XAXISH M S X201 A 1,000,000 0 1,000,000
| 1,000,000 0 1,000,000
01 XXM A2E = 1,000,000 0 1,000,000
OFd etidl MsdH A 1,000,000 0 1,000,000
| 1,000,000 0 1,000,000
ZE ehidl MSHH HE(=12) 1,000,000 0 1,000,000
| 1,000,000 0 1,000,000
403 XAtXISHM S K201 ™ 1,000,000 0 1,000,000
| 1,000,000 0 1,000,000
01 XM A=2E X 1,000,000 0 1,000,000
OZE el MsdH Hd 1,000,000 0 1,000,000
| 1,000,000 0 1,000,000
2% SRS A (21) 1,450,000 0 1,450,000
J| 1,000,000 0 1,000,000
== 450,000 0 450,000
403 Ut S S X201 & 1,450,000 0 1,450,000
| 1,000,000 0 1,000,000
= 450,000 0 450,000
01 XXM A=2E = 1,450,000 0 1,450,000
Oy U=2M=sa HE 1,450,000 0 1,450,000
| 1,000,000 0 1,000,000
< 450,000 0 450,000
EXE USEHANsSS 28 (=20) 1,150,000 0 1,150,000
| 1,000,000 0 1,000,000




2N
X ZH -
L= B

el

!
AUB M H=E VAT A

SN SAGA) - MRAY - BES 04 &+ o o1 3 o HIDZ 2
T 150,000 0 150,000
403 A X EHHSXH=0lA 1,150,000 0 1,150,000
Il 1,000,000 0 1,000,000
S 150,000 0 150,000
01 AXISHHA=2E = 1,150,000 0 1,150,000
OCHEE U=sHMs2 A 1,150,000 0 1,150,000
Jl 1,000,000 0 1,000,000
S 150,000 0 150,000
H2gs s 28 (=1) 1,150,000 0 1,150,000
J| 1,000,000 0 1,000,000
== 150,000 0 150,000
403 A X EHS =0l A 1,150,000 0 1,150,000
Jl 1,000,000 0 1,000,000
= 150,000 0 150,000
01 HXSHHG=EE 1,150,000 0 1,150,000
ozgy UsaNs2 A8 1,150,000 0 1,150,000
Jl 1,000,000 0 1,000,000
= 150,000 0 150,000
2019 SSHSAIE HES A (2 1) 1,017,000 0 1,017,000
Jl 1,017,000 0 1,017,000
403 AXIHHSXH=0lA 1,017,000 0 1,017,000
Jl 1,017,000 0 1,017,000
01 X SHHA =22 = 1,017,000 0 1,017,000
O=d S22 HES ML 99,000 0 99,000
Il 99,000 0 99,000
O=d SEMsS HES AME 168,000 0 168,000
Il 168,000 0 168,000
OZY SEg=2sd 2% & LM A Y 210,000 0 210,000
Jl 210,000 0 210,000
oz 28 USsHMs2 238 MHE=+ AtY 150,000 0 150,000
Jl 160,000 0 160,000
O=x ZE2ST JIBAIE cl22d AY 400,000 0 400,000
Il 400,000 0 400,000
sz Nd # ¢ 54 36,893,338 30,260, 354 6,632,984
Jl 541,742 508,814 32,928
= 36,351,596 29,751,540 6,600,056
T oot MEEM 29 - Nk 21,799,000 20,539,000 1,260,000
307 21201 & 21,799,000 20,539,000 1,260,000
02 HAHFHYANEEX 17,686,000 16,426,000 1,260,000
Ok dH=3 N& 14,800,000 13,650,000 1,150,000
Ok FUAM=2l X 2,886,000 2,776,000 110,000
ZJACUZZEAL (L RAFC) 43 N 11,000,000 6,700,000 4,300,000
307 glztol & 11,000,000 6,700,000 4,300,000
02 UAHFHAEEE 11,000,000 6,700,000 4,300,000




A HSD
IE: AU HS Y2 YHUE A
ol MSHE N o S S4 EEREED
SA-HH S (3A) - HFAY - BAES 0 &k o J1 3 o Hms2
OZ3FC 2& X& 11,000,000 6,700,000 4,300,000
Hell & HMSsAL X 402,000 233,000 169,000
307 21201 A 402,000 233,000 169,000
04 QIZHHALALH B = 402,000 233,000 169,000
OZ&d AH0tet=sl 80,000 0 80,000
O&d=EU4 AEEANHS 10,000 0 10,000
OEHHMZI AlZlHE =23 5,000 0 5,000
OFEd 222Ul 20U s d=02U2 20,000 0 20,000
OZJstdH=sz2H 4,000 0 4,000
OZMYR E& 2N OIS 50,000 0 50,000
2019 =8 =H2E =3 22U 60,000 0 60,000
308 MHXItHMS0H 60,000 0 60,000
01 XN EES 60,000 0 60,000
©2019 28 =ME =& 22U 60,000 0 60,000
HAH #A4E O1lE AZXHE izl X (SHEH 150,000 0 150,000
)
308 XXM S0l ™ 150,000 0 150,000
01 HXHHBAEES 160,000 0 150,000
OMA HA8 OtE AXZ=O3 Nz X 150,000 0 150,000
Ed F20 2 =M EHAZ U3l OH = 250,000 0 250,000
308 XM S0H 250,000 0 250,000
01 XM EES 250,000 0 250,000
OFd RCIotE IMEHAZ el Izl 250,000 0 250,000
AMPEEY 0lA 2 elot 200,000 100,000 100,000
308 NHXIEHMSO0IE 200,000 100,000 100,000
01 AXSHHBAEES 200,000 100,000 100,000
OAEEe0lA R 2|0t 200,000 100,000 100,000
2= 2H Z2II0s iz 30,000 0 30,000
308 MtXIEHHMSOIH 30,000 0 30,000
01 HXHHBAEES 30,000 0 30,000
O%¥F= SM2JIUs M=l 30,000 0 30,000
22 S8l AEXZ=NFH 50,000 0 50,000
308 XXM S0l ™ 50,000 0 50,000
01 X HHBAEES 50,000 0 50,000
OZ3N -8l AXZ=NFEAH 50,000 0 50,000
oAz =2A0/Ed XN (=1) 39,984 0 39,984
Il 32,928 0 32,928
S 7,056 0 7,056




SN HSD
M AYH HS #=E YRS AW
el M0 N L oA 84 (el @)
SN B S(3H) - NPAY - BES 0 F oIS o HR=2
308 X EHSOIA 39,984 0 39,984
J| 32,928 0 32,928
& 7,056 0 7,056
01 HIXNHHBHNEELES 39,984 0 39,984
OFMHAZ=2E 0/2A XA 39,984 0 39,984
J| 32,928 0 32,928
< 7,056 0 7,056
2019 28 FEREIO =l XA 30,000 0 30,000
308 XXM SO A 30,000 0 30,000
01 IXNSHHBMNEES 30,000 0 30,000
©2019 2 EESEIOoL Mzl XA 30,000 0 30,000
K193 Ol sl ESE =ML HUAESZ HE 24,000 0 24,000
308 XtXIEHH SOl A 24,000 0 24,000
01 AXNHHMBAMNEES 24,000 0 24,000
OM198] OBl EHAMELION BILIASS
o 3 24,000 0 24,000
H145 =2 Eeltl MABISE=A U3 Wz (It 60,000 0 60,000
T XH)
308 XXM S0 A 60,000 0 60,000
01 HXNHHNBHELS 60,000 0 60,000
OHM14sl SR Sclth MAbtSE =2 U3 = 60,000 0 60,000
2019 ZelABY =7 M0 & 20UHE 42d 10,000 0 10,000
VET
308 XtXIEHH SOl A 10,000 0 10,000
TAXNEHBEEXS 10,000 0 10,000
©2019 ZClAEE =7 d=20a & 2t E
g™ ONE KA 10,000 0 10,000
FIBA 3:3 &2l 2019 100,000 0 100,000
308 XtXIEHHSOIA 100,000 0 100,000
01 AXNHHEBANEES 100,000 0 100,000
OFIBA 3:3 &l XM 2019 100,000 0 100,000
HEEegs(ds) 84,420 0 84,420
SHEXNE 84,420 0 84,420
M2 2 0EX3 Bta 84,420 0 84,420
802 Btet = DI Et 84,420 0 84,420
01 =202 x3ereaz 84,420 0 84,420
0'18d s3HSAE HES XA 1,059 0 1,059
o'17d cgZ=z ) XA 83,361 0 83,361




